
Derivace základńıch funkćı

součet, rozd́ıl

(f ± g)′ = f ′ ± g ′

derivace součinu

(fg)′ = f ′g + fg ′

derivace pod́ılu(
f

g

)′
=

f ′g − fg ′

g2

derivace složené funkce

(f (g(x)))′ = f ′(g(x))g ′(x)



Derivace f (x)g(x)

Př́ıklad
f (x) = x sin x , x ∈ (0,∞)

ln f (x) = sin x ln x

1

f (x)
f ′(x) = (sin x)′ ln x + sin x (ln x)′

f ′(x) = x sin x︸︷︷︸
f (x)

·
(
cos x ln x + sin x · 1

x

)
Př́ıklad

f (x) = sin xcos x , x ∈ (0, π)

ln f (x) = cos x ln sin x

1

f (x)
f ′(x) = (cos x)′ ln sin x + cos x (ln sin x)′

1

f (x)
f ′ = sin xcos x︸ ︷︷ ︸

f (x)

·
(
− sin x ln sin x + cos x · 1

sin x
· cos x

)
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